
Principles of Real Estate

Solution to Quiz 

1.
The reproduction cost for a five year old office building with 270,000 square feet of leasable space is $85 per square foot.  The site is valued at $1,750,000.  Estimate the value of the property if:


a)
physical curable depreciation is $ 775,000



b)
physical incurable depreciation is computed using the straight line method for an improvement initially have a 40 year life,



c)
the rent loss due to functional depreciation is $32,500 annually, 



d)
the rent loss due to economic depreciation is $15,500 annually, and



e)
annual revenue losses in c) and d) are discounted at 11% annually. 

Reproduction Cost New
$ 22,950,000


less physical curable depreciation
- 775,000

Adjusted reproduction cost new
22,175,000


less physical incurable depreciation
- 2,771,875


[  (1/40) x $ 22,175,000 x (5 years) ]


less functional depreciation
- 287,795


less economic depreciation
- 137,256

Estimated Building Value
18,978,074


plus site value
1,750,000

Property Value 
$  20,728,074
